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8. Write short notes on any two of the following :

ffiRq-o + t ffi i qt sft"il tqfr ftftqq:

(a) NITI Ayog

*R ilftr

(b) Dalit movement

qk,r eri+d-{

(c) Organised Sector

ffi6 a"

(d) Liberalisation

3-4lt-6{ul
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1. Write your R.oll No. on the top immediately on receipt

of this question paper.

2. Attempt any four qucstions.

3. All guestions carry equal marks'

4, Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.

P.T.O.(1s00)

I

I

I

I

I

I

1

l

ollegc 
/--

l

I

i
I

i

I

I



55) /

ert-+-fu-Er*sr

1 E( qr;r-c=r + ffi ff gqt frs rtg fttltRa tqrc q{ il.c-{

ir-{iflr+,ftREq

e. ffiqnyrq]*st<fiBt r

a qeSYt+ d wq,rrqrq* r
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Critically examine th€ objectives and achievements of

planning in lndia.
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Write an essay on the socio-economic impact of the

green revolution in india.
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Discuss the causes and consequences of industrial

policies pursued since 1991 .
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5. Discuss the political economy of contemporary farmers

movements.
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The Indian middle class has always played the role of

facilitator in the movements led by civil society.

Elucidate.

Naxal movements are the result of failed policies for

Iand reforms. Comment.
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What do you mean by unorganized sector?. What steps

have been taken by the government to improve the

condition of the unorganized sector.
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